Practice Problems
Linear Algebra, Dave Bayer, February 12, 2011

These are supplemental practice problems for our first exam.

[1] Find a system of equations having as solution set the following affine subspace of R*.
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[2] Find a system of equations having as solution set the following affine subspace of R?,
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[3] Find a system of equations having as solution set the following affine subspace of R*.
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[4] Find the intersection of the following two affine subspaces of R*.

01 2
3 2

|

10

3}-

1 1 1 1]

|

We cHmbine These equq’nons

1 =1 1 —1]

AN E (1 | Y 1o-\-2|-2
orv23|le{=|lo0r123|¢|=>|0Vv2 316
L N a-20 2|~ oo4 4 |8
bBZ\OIG | Q -\ ~2 -3l -
-l ~2 -2 1 0o0-11D
"";itl:vol'l's G]"’a’ 0\0|7_l
oo )12 0o 1|2
wh solvhon set Fu-» ) '\\
X - 2 +t'—\
“ 2 -\
z.l I-.O L_l,
R EEH (NN ERHRE
2 -
2 210 '2.+ -
e L) | @5
Levnyfep) (1)) s {q\%rﬂ: ‘t]
{\-I \-\\ 2 |+t -1\ o O 0
2 -\
| O 1) é




[5] Find the intersection of the following two affine subspaces of R?,
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[6] Find the intersection of the following two affine subspaces of R*.
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[7] Find the intersection of the following two affine subspaces of R?.
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